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PRESIDENCY UNIVERSITY
SENGALURU

SCHOOL OF ENGINEERING

TEST 1
Sem & AY: CQdd Sem. 2019-20 Date: 01.10.2019
Course Code: ClV 215 Time: 9:30AM 1o 10:30AM
Course Name: ESTIMATING, COSTING AND VALUATION Max Marks: 40
Program & Sem: B.Tech, (CiV) & Vil Weightage: 20%

instructions:
i. Al the guestions are compulsory
ii. Scientific calculators are aliowed

Part A [Memory Recall Questions]

Answer all the Questions. Each guestion carries six marks. {(3QxeM=181)
1. Define Estimate. Explain the purpose of estimating. {C.O.NO.1) {Knowledge]
2. Difterentiaie between revised estimate and supplementary estimate

(C.C.NO.1) [Comprehension)]
. What are the common approximate methods of estimating the building? Explain any
one method with details. (C.ONG. 1) [Knowledge]

[}

Part B [Thought Provoking Questions]
Answer all the Questions. Each question carries four marks. (3Qx4AM=12M)

4. Detailed estimates inciudes the detailed particulars of the guantities, rates and costs
of all the items invelved for salisfaciory completion of a prolect. List the r*%afa requ éémfﬁ
for preparing delailed estimales. {C.C.NO .1} [Knowledge]

From the below two examples, pick which one categorized as contingency with a good
reason:

a. An eslimate for cement plastering 1:4 with neat cement finish was included bui
during execution of work, it was desired 1o provide nosing at the end of steps for
which there was no allocation of funds.

There was a change of design resulling in increase in volume of work hence

o

o5

devialing original estimate. (C.O.NG.1) [Comprehensicon]
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5. What are the unifs of measurements for the foillowing: (C.C.NO. 1} [Knowledge]

a. Thin honey comb walis

6. Comices

¢. Pointing

d. Backiiling of earth afier construction of foundation

Part C [Problem Solving Questions]
Answer the Question, The Question carries ten marks. {(1Gx10M=100

7. In a Block davelopment meeling vou are reguired 1o draw up a preiiminary estimate of
a school buiiding for 500 students in order o assess the amount of fund. The following
particulars are collected: Carpet arsa required per studeni=1.20sgm with an area of

corridor, verandah, lavaiories eic be 20% and for the walls 15% 1o thatl of plinth area
of the bullding. {(C.O.NG.1) [Comprehension]

a4

Consider, pi nth area rate= Rs. 1100 persgm.

Cost of water supply= 5% of the builiding cost
Cost of san ;v%aﬂzeorﬁ 8% of the building cost

Cost of slsctrification= 10% of g co

Cost of aporeach road and boundary wail= 3% of the
Contingency and work charged esiablisnment shali b

respectively.

Sy
N2
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SCHOOL OF ENGINEERING

Date 1-10-2019
Time: 1 Hour

Max Marks: 40
Weightage: 20%

Semester: Seventh
Course Code: CIV 215

Course Name: Estimating, Costing and Valuation

Extract of question distribution [outcome wise & level wise]

@ i H ' P B
| - Memoryrecall © Thought | ;
| | | | type . provoking type | |
| Unit/Module | P P 9P ' Problem Solving | Total
| Number/Unit f [Marks allotted]| [Marks allotted] - type - Marks
| Q.NO | C.O.NO | g | |
I /Module Title Bloom’s Leve!sé‘ Bloom's Levels © [Marks allotted] !
| { !
f ) KT e A ‘_ -
1 'CO1 1 6 T T ]
T2 [co 1 6 - 6
f_“§ Tcot T 6 ) B R
‘EL 4 CO1 1 - E[~ 4 i Bl VI
5 1CO1 1 [ 4 B
6 |CO1 1 | 4" 4
7 cod T N ] T C 10
E 1 _ e
Total g 18 12 ! 10 .40
Marks ; , |

K =Knowledge Level C = Comprehension Level, A = Application Level






Note: While setting all types of questions the general guideline is that about 60%

Of the questions must be such that even a below average students must be able to
attempt, About 20% of the questions must be such that only above average students must
be able to attempt and finally 20% of the questions must be such that only the bright
students must be able to attempt.

[I hereby certify that All the questions are set as per the above guide lines. Ms.
Navaneetha H |

Reviewers' Comments






Annexure- II: Format of Answer Scheme.

SCHOOL OF ENGINEERING

SOLUTION (TEST-1)

Gt Date 1-10-2019
Semester: Vi Time: 9:30 a.m
Course Code: CiV 215 Max Marks: 40
Course Name: Estimating, Costing & Valuation . Weightage: 20%

Part A (3Q x 6M = 18 Marks)

i T Na AT, T T
' QNo ¢ : . Max. Time |
: | . . . . P e .
| ; Solution ‘ Scheme of . required for |
| i X . ! DY » M ;
§ ? Marking . each Question |
: 1. Define Estimate. Explain the purpose of estimating . Definition : 2| 8 mins |

: | i
' | marks | :
| : i
| Sol: - Purpose: 4 ;
i Definition: A !
! . o ~ A . marks (any 4 |
| Estimate is defined as the process of calculating the quantitics points) ; f
f and costs of various items required in connection with the ‘ | |
i t work. ‘, |

' i i
I ; i i
| | | |
! Purpose: { ; g
i . . . . . ! i |
; 1. Estimate give an idea of the cost of the work and hence its g : 1
1 feasibility can be determined i.e whether the project could be f :
! ' taken up with in the funds available or not. i ! !
; i 2. Estimate gives an idea of time required for the completion of |
t ! 1
i | the work. : |
! 3. Estimate is required to invite the tenders and Quotations and j ’ i
| to arange contract. 2 |
4. Estimate is also required to control the expenditure during | !
{ the execution of work. : , i
| . . ! |
: 5. Estimate decides whether the proposed plan matches the ;
| funds available ornot. . - e ;
P2 Differentiate between revised estimate and supplementary Any 3 8 mins :
| estimate " differences : 6
| Sol: o marks | 1
2 L Revised Estimate I Supplementary Estimate I ;‘







|

PR PR 0 N UL Y I LI

sanctioned amount is
exceeded due to change or

addition of works

it s reguared due to
supplementary works which
are fairly independent of the
work at first sanctioned

Revised estimate due to
material deviation from the
original proposal

s accompameu witha

comparative statement
abstract from showing the
probable variations for
| quantity. rate and amount
against each item of work
involved in the project

des ign oxwmall\ appros ed

Supplementary estimate is

due to material deviation of a

structural nature from the

No comparative abstract

form is required. This is an
estimate for addition works
only. The abstract shows the
original estimate and the
wital amount of the sanction
required including
supplementary amount

Revised estimate is required
due to change of rate of
quantity of materials, so no
additions or revisions of
drawings is necessary

~revisions of drawings may be |

Supplementary estimate is

required due to some new
works or due to change of’
design. so additions or

. necessary

(WS

What are the common approximate methods of estimating

the building? Explain any one method with details.

Sol:

Various methods: a. Plinth area method b Cubic rate method c.

service unit method d. Bay method e. Cost comparision

method . Cost from matendls :Iﬂd l'xbmns

Explanation of

any one method:

3 marks

'I\pcs 3 marks

i
i
{
i
i
|

UV |

8 mins

]

Part B (3Q N 4M = 12 Marks)

g T Schemeof 7T Max, Time o
f Solution Muarking . required for
g S S _each Question_|
f Data required : No explanation | 5 mins
§ a. Drawings required. :
| ! b. Specxtmatlon i Listing: 4 marks j f
' i. General specifications fs | ’
| ii. Detailed specifications i j

f ¢. Rates | j

: B USRS S e e

5. | CONTINGENCY: An estimate lor cement plaslumu ! 4 Picking the right 5 mins

with neat cement finish was included but during execution
of work. it was desired to provide nosing at the end of steps |
for which there was no allocation of funds. '

example: 2 marks ¢
Reason: 2 marks

Reason: Because contingency indicates the incidental
expenses of a miscellaneous character which cannot be |
reasonably predicted during preparation of an estimate. Flk :
above example fits the definition







e e oy vuiu wvans .o Unis for four 4 S mins
" b. Cornices: m marks

| ¢. Pointing: m2

| d. Buckfilling of earth afier consuuction ur foundation: m3

Part C (1Q X 1OM =10 Marks)
L S — S

Solution Marking . required for

Carpet area for 500 students= 1.2x500= 600sqm Plinth area: 3 | 10 mins
P=600+.20P+.15P= 923.08sqm marks !
Cost of the i
Cost of the building: 923.08x Rs.1100- Rs. [0.15388 - building : 2 marks
Total cost: Rs.12.59.081/-  Adding all the
costs: <4 marks
Including :
contingency: I |
_marks |

i - Scheme of . Max. Time

__each Question |

— e e e,

i
i
i
'






Roll No.
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o
4l  PRESIDENCY UNIVERSITY
REACH GRESTER HEIG) BENGALURU
SCHOOL OF ENGINEERING
TEST ~2
Sem & AY: Odd Sem 2019-20 Date: 19.11.2019
Course Code: ClV 215 Time: 9:30 AM to 10:30 AM
Course Name: ESTIMATION, COSTING AND VALUATION Max Marks: 40
Program & Sem: B.Tech & VII Weightage: 20%

Instructions:
()  Read all the questions carefully before answering.
(i)  Answer all the theory questions point wise.

Part A [Memory Recall Questions]
Answer both the Questions. Each Question carries five marks. (2Qx5M=10M)

1. Briefly explain all the clauses related to deduction in wall plastering quantity as per IS 1200
Part 12. [SM]  (CO.2) [Comprehension]

2. Estimate the quantity of following items of work for a building plan shown in Fig.1 using
“Long wall — short wall method of estimation”
a) Earthwork in excavation.

b) Brickwork in superstructure [5SM] (CO.2) [Application]
£3
I 1 E— g
' b
| i T
: i :
. ; & i § o E %
i g 1 s : g
! . g | 5
P g Mv“\i‘*‘% __;g £
* B30 m mi__,; ' R
IPRIT—Y 2 -4 I P 350 102, et g‘%f&ftf{
(o4
_ PLAN OF SUPERSTRUCTURE WALL. E5 k-

Figure.1



Part B [Thought Provoking Questions]
Answer the Question. The Question carries ten marks. (1Qx10M=10M)

3. Prepare a detailed bar bending schedule of reinforcement steel for the RCC slab of 3m*6m

clear span as shown in Fig.2. (Represent shape of all type of bars with breakup of
Dimensions)

_Technical notes:

i.  Cover on sides of the slab is 40mm, Cover on top and bottom of slab is 10mm each.
ii.  Hook length should be 9 times of the diameter of the rod.
iii.  Bent up angle is 45 degrees.

iv.  Bearing of slab on all 4 sides is 15cm. [10M] (CO.2) [Application]

o G RODF SLAB

Hoem
3m Clear Span ¢ Alt. Bars Bent up { pidem
E 3 d\.‘ ll): A . :;
j - % 1 2rren Dua Main Bars 120m cie O\ e
i5imi  S0em Distr. bars 6mm Dia 18cm cic 50cm *ff/i
/7 3m Ciear Span A Y
CROSS SECTION

Chaterr Fang o "
P Wiay

2
o o - %
: atasr Edge of S :
: Sevrs Bgasnger G G ufati? e
E ? :
H %‘ 2 :
o i
i % : : I ! i 2
3 i N JE " ...,;,..-.,‘.,,M..».. ene o B s o o B e w“-.‘m-_mw.z:rw,v,u, e
Y >*-x~,.ﬂrm§@“.¢w““ : 2
: %“{ o : : tner Face of Wall ¢l
3 é 2 - N % F f ¥ }
T : ’
¢ : : s : 4 '
¥ i ¥ * % ¥ ¥ H
o« » R I SN, S
€ R el au bl 5 e
% § L3 M ¥ : 4 ltm;‘% ; ;a :
i % oo
0 - - 4 ¥
H IR : Stragra b | |
g o A S AR RO PR ST U ST S
: L e R R 3 f h %
e I s Al Bent up P
s Iy N
i ) H & 2 [ ™%
2] £ s E \ ¥ * *
M R S, 0 R R d 3w ”
: Gty 3 N o pd - R §*
' . Onstr, Bars Govn Ok 18om pic > “Main Bars 12mm Dia 120m o/ Bert up Hes
N 4 Top Bart
Bers Clewr Span o0

BART PLAN SHOWING ARPANGEMENT OF REINFOREMENT BARS

Figure.2



Part C [Problem Solving Questions]
Answer the Question. The Question carry twenty marks. (1Qx20M=20M)

4. Prepare a detailed estimate of a 2 BHK residential building from the given plan and section
(Refer Fig.3) for the following items of work.

a) Earthwork in excavation in foundation.
b) Plain cement concrete (PCC) in foundation.
¢) Brickwork in foundation and plinth in 1:6 cement mortar.
d) First class brickwork in super structure in 1:6 cement mortar, along with deductions for
all the openings mentioned in the drawing and lintels over all the openings.
Note: All walls are of 30cm thickness, Thickness of lintel is 15¢m and bearing of lintel on
either side can be taken as 15cm.
[20M] (CO.2) [Application]

% OAESsn ‘
w2 W3 w2
5 A—— RN [
| TONET
1.5m x 2nd
S 3.2m

BEDROCH / :

i IREE) g e
w2, S x 4 KITCHEN 0.30m
4r0 % 4
"o
0.30m
{
N G g e Gl
; ; 0.30m
w2 BEDROOM ]l
i Sm % 4m LIVING ROOM wm O
S.8m x 4m i
;"/ H 0430m ke .60
{ D1
w2 w1
) ) o 0.30m 6.80m - i
Plan of a 2BHK residential building
Oii}m: . : %
ks 0.90m ol

Section of a typical 30cm thick wall

Schedule of doors Schedule of windows
D1—-1.2m *2.1m W1-15m*1.2m
D2-1.0m*2.1m W2-12m *1.2m
D3-0.7m * 2.1m W3-0.7m * 0.6m

Figure.3






;,? SCHOOL OF ENGINEERING

o

GAIN MORE KNOWLEDGE
REACH GREATER HEIGHTS

Semester; 7"

Course Code: CIV 215

Course Name: ESTIMATION COSTING AND VALUATION

Date: 19-11-2019
Time: 09:30 AM to 10:30 AM
Max Marks: 40

Weightage: 20%

Extract of question distribution [outcome wise & level wise]

Memory recall Thought
type rovoking type
Unit/Module yP P 9P Problem Solving | Total
Number/Unit | [Marks allotted]| [Marks allotted] type Marks
Q.NO | C.O.NO
/Module Title | Bloom’s Levels| Bloom's Levels | [Marks allotted]
K C A
1 1 1 5 5
2 1 1 5 5
3 1 1 10 10
4 1 1 20 20
Total 18 12 10 40
Marks

K =Knowledge Level C = Comprehension Level, A = Application Level

Note: While setting all types of questions the general guideline is that about 60%

Of the questions must be such that even a below average students must be able to
attempt, About 20% of the questions must be such that only above average students must
be able to attempt and finally 20% of the questions must be such that only the bright
students must be able to attempt.







Annexure- II: Format of Answer Scheme

%‘{7 SCHOOL OF ENGINEERING
—
SOLUTION
B CnenEn heionTe Date: 19-11-2019
Semester:; 7t Time: 09:30 AM to 10:30 AM
Course Code: CIV 215 Max Marks: 40

Course Name: ESTIMATION, COSTING AND VALUATION Weightage: 20%

Part A (2Q x 5M = 10 Marks)
Q Max.
No Solution Scheme of Time
Marking required
for each
Question
1 | No deductions shall be made for ends of joists, beams, posts, etc, 5 marks

and openings not exceeding 0.5m? each and no addition shall be
made for reveals, jambs, soffits, sills, etc, of these openings nor for
finish to plaster around ends of joists, beams, posts, etc.
Deductions for openings exceeding 0.5m? but not exceeding 3m?
each shall be made as follows and no addition shall be made for
reveals, jambs, soffits, sills, etc. of these openings.

a) When both faces of wall are plastered with same plaster,
deduction shall be made for one face only.

b) When two faces of wall are plastered with different types of
plaster or if one face is plastered and other pointed, deductions
shall be made from the plaster or pointing on the side on which
width of reveals is less than that on the other side but no deduction
shall be made on the other side. Where widths of reveals on both
faces of wall are equal deduction of 50% of area of opening on
each face shall be made from areas of plaster and/ or pointing as
the case may be.

¢) When only one face is plastered and the other face is not full
deduction shall be made from plaster if width of reveal on
plastered side is less than that on unplastered side but if widths of
reveal on both sides are equal or width of reveal on plastered side
is more. No deduction shall be made.

d) When width of door frame is equal to thickness of wall or is
projecting beyond thickness of wall, full deduction for opening
shall be made from each plastered face of wall.

In case of openings of area above 3m? each, deduction shall be
made for opening on each face but jambs, soffits and sills shall be
measured.

7 min







2 a)2.5+
Particulars of . Height 1 = 7 min
Trems No, jLength [Breadsh c;r Quantity| Bxplanatory note b) 2.5
Depth 5 marks
Earthwork in
enenvniion fn
foundation = !
Longwslls .| 2 1620m!| 90m | 90m | 10.06 |Length = 530+ S0=63m
Shortwalls ...] J 1340m! 90m | S0Om 5.5 | Breadth = 4,30 - 93 = 340 m
Total [5.%%
i m
Concrete o
foundation —
Longwalls ...} 2 [620m|.%0m]| .20m 3.35 | Longih saune as for excvation
Shortwalls ...} 2 |340m| %0m | 30m | 183 Quantity = 11 of #xcavation
Total | 5.18
cun
Brickwork in
foundation and
Long walls — '
Ist footing ...| 2 |590m| 60m | 30m | 21 |Length=530+ 60 =550
Ind footing ...| 2 |580m Mno.aW0m 174 | Length =530 +« 530 = 580
Plinth walls | 2 [570m| 40m | 60m 274 | Length =530+ 40 = 5.T0
Short wals — 1
Ist footing ...| 2 (370m| .60m | 0m 133 | Length = 4,30 - 60 = 3,70
2nd footing ...1 2 §3.80m| 50m | 30m 1.14 | Lenpth =430 - 50 =380
Plinthwalls ...} 2 1390 m] 40m | .60m 187 | Length =430 - 40 = 3.90 1
Towl | (093
cum
Biickwork in
superstructure
Longwalls .| 2 |3.060m| 0m {300 m| 1176 |Length=3 30+ .30 = 5.60
Shortwalls ... 2 [4.00m]| . 30m {3.50m B40 | Length = 4,30 - 30& 4.00
Total 20,16
- 3 (o0 <4 3
Part B (1Q x 10M = 10 Marks)
Q Scheme of Marking Max.
No Solution Time
required
for each
Question
3 10 marks 15 min
— T LENGTH No. | ot i
SCRIPTION SHAPE OF BENDING LENGTH '
OF BARS DIMENSIONS IN om. O‘mw‘ m il
M s
e
MAIN STRAIGHT 9288
BARS 12 mm, DIA — a4 7
, 1
MAN BENT UP 3R » Lﬁ e
BARS 12mm. O - Rl
, £33 18 | 13m
BOTTOM DISTRL o —
STING BARS L 622 oy
8mm., DA 4 ]
% 822 Fi
r i
TOP DISTRIBUTING | & -
BARS 8mm. DIA £33 & 7
15142 a4







Part C (1Q x 20M = 20 Marks)
Q Scheme of Marking Max.
No Solution Tilfle
required
for each
Question
Height or . i 20 marks with
4 Sino | Description of work |  No. Lengh | Breadh Depth | Quant Unitaf Explanato notes: 2marks for centerline
p p ty planatory notes |
m ! (m) ) measurement | and junction
Earthworkin § calculation, 30 min
L | ectonn | 1|82 fos | 1| M8 | m t:sa.a-s*o.s*e.e'g 1), 2) 3 marks each
foundation. ! and
lain cement | 3), 4) 6 marks each
| encetelpctin | 1| 807 | 08 | o | S46 | m o |LeBA3-605'08, 2+
foundation, E gi
Brickwork in % 6+
foundation and plinth } 6+
in1:6 cement mortar, E =20 marks
S oo | 1| 6| 08 | 03 | W& | m|L643-50508]
mifeotng | 1 | 69 | 06 | 03 | 0 | md  |L:bl3-80506]
 plnth U 67 | 04 | 08 | 505 | m |L=643-805%04]
Total | 40.85 m3 :
Fist classbrickwork %
insuperstructurein | 1 8311 03 31 | 6058 m3 L=643-8°05%03 :
L:§cement mortar !
Deductions |
Doors, 01 1l 12 |03 | 21 | om | m i
4 Doors, 02 3 1 0w | m i
Doors, D3 tolor o3l u s | m }
Windows, W1 20015 | 03 |11 | 0 m3 {
WindowsW2 | 5 | 12 | 03 | 12 || m i
WindowsWs | 1 | 07 | 03 |21 | oM | m i
Totl | 5734 | m3 !
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=
PRESIDENCY UNIVERSITY
BENGALURU

SCHOOL OF ENGINEERING

END TERM FINAL EXAMINATION
Semester: Odd Semester. 2019 - 20 Date: 27 December 2019
Course Code: ClV 215 Time: 9:30 AM to 12:30 PM
Course Name: ESTIMATING, COSTING AND VALUATION Max Marks: 80
Program & Sem: B.Tech (CIV) & Vi Weightage: 40%

Instructions:
(i) Read the all questions carefully and answer accordingly.
(ii) Only scientific calculators allowed

Part A [Memory Recall Questions]
Answer all the Questions. Each Question carries 05 marks. (4Qx5M=20M)

1. Define the terms i) Contingencies ii) Work charged establishment (C.O.No.1) [Knowledge]

2. List various types of estimate and explain the most reliable type of estimate.
(C.0.No.2) [Knowledge]

3. Prepare rate analysis for cement concrete 1:2:4 for 10m3 (C.0.No.3) [Knowledge]
4. Explain sinking fund and depreciation (C.0.No.4) [Knowledge]
Part B [Thought Provoking Questions]

Answer all the Questions. Each Question carries 10 marks. (4Qx10M=40M)

5. Estimate the quantities of the following item of works of a two roomed building from the given
plan and section shown in figure by long wall and short wall method i) earth work in excavation

in foundation ii) lime concrete in foundation (C.0O.No.2) [Comprehension]
ERTOALA N e g}
Twr.%_ e W
S, = e
ol SIE C -
B - ° ROOM
L. P w 3.5m x4.Bm w
20
G;;:KL& L gs% ~~§-§~ “em § Wem 30wm
soom] T a0 QIE = l |
[a:n::;ww;;:.::r:}gfg ver o D 4
60cm 60cm 1= W
g
SEC-AA SEC-BB SEC.CC PLAN
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6. Reduced level (R.L) of ground along the center line of a proposed road from chainage 10 to
chainage 20 are given below. The formation level the10th chainage is 107 and the road is down
ward gradient of 1 in 150 upto the chainage 14 and then the gradient changes to 1 in 100
downward. Formation width of road is 10 meter and side slopes of banking are 2:1(horizontal:
Vertical). Length of the chain is 30 meter. Draw the longitudinal section of the road and a typical

cross section and prepare an estimate of earth work at a rate of Rs. 275 per cubic meter. R.L

of formation is 107 meter. (C.0.No0.3) [Comprehension]

Chainage |10 | 11 12 13 14 15 16 |17 |18 19 120
R.L of | 105 | 105.6 | 10544 | 105.9 | 105.42 | 104.3 | 105 | 104.1 | 104.62 | 104 | 103.3
ground in

meter .

Gradient Down gradient 1 in 150 Down gradient 1in 100

7. Figure shows the plan and cross section of the footing slab with a square R. C column 20cm

outside with following particulars. Area at the base of the slab slab=1mx1m. Area of base of
column =28cmx28cm. Depth of slab at column face =40cm. Depth of slab at outer edge =15cm.
reinforcement in the slab= 12mm diameter bars both the ways at 15cm c/c and a weight of 0.89
kg/m. Reinforcement in the column 4nos. 12mm dia bars with 8mm dia binders at a spacing of
18cm c/c with a weight of 0.39kg/m and for slab is 50mm and for column is 25mm. Other

particulars as per drawings. Bent up length of the bar in the roof slab is 10mm. Only prepare

schedule of bars (C.0.No.2) [Comprehension]

£cti- BMM 6 BINDERS
¥ LOCH
FIBUMLAT ) 3 : N
= M’%‘ 0 C
£ T if”"““"‘“"‘"““’“}‘“f“
2 25 MM coves
£l & o
x ) a3 £ o oy
b IR _ i =
S L et o s EXE M SOUARE
ib} ANOS.
Zt%ggﬁ%&éaas ——— 2 pBans
§ ras mt
i 28, ¢m § {(dYs rmmg
b e | g BinpeEss
SECTION ON 1Y s @I CMOsD
y 1 , ©
¥ b |
1 S - | e TECHMEGUARE
—y . q},j
= o ﬁz 1 = T 4 NOS.
R e 1ZMM P SPUCE BARS
=~ =t Q) 1ZHMM ¢ BARSE
~ & ISCMC/CBOTHWAT
LS IZPRARSE s
ISCMT/CBOTHWAYS "4
;"f}‘;w 10 CM BRICK
- Y
PLAN SLLLITTTT T FLATSOL!
g M Sg,
i -
SECTION i
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8. A three storied building is standing on a plot of land measuring 800 sq.m. The plinth area of
each storey is 400 sg.m. The building is of R.C.C framed structure and the future life of the
building is taken as 70 years. The building fetches a gross rent of Rs.1500 per month. Workout
the capitalized value of the property on the basis of 6% net yield. For sinking fund 3%
compound interest may be assumed. Cost of land may be taken Rs, 40 per sq.m. Other data
required may be assumed suitably.

Answer the Question. The Question carries 20 marks.

(C.0.No.4) [Comprehension]

Part C [Problem Solving Questions]

(1Qx20M=20M)

9. Estimate the quantities of the following items of a residential building from the given plan and

section shown in the figure by center line method.

A) Earth work in excavation in foundation
B) Lime concrete in foundation
C) | class Brickwork in 1:6 cement mortar in foundation and plinth
D) 2.5 cm thick Damp proof course

prmsm—— 1
TR <! H
b H
Bl
o LA ’
t .?I wan Y
1 Mh‘
Ea fl B0 RO04 D
] 3
S | Y ﬁ 1
we v
: O 01 13
0y |
L _m,..}
N ~ i
! ji ORG. ROON KITCHON i
13 1%, 75+] Gt A0t k;
L : |
itotﬂ 8 "m-w&
los ]
! T s v -
' ‘ Wy 4
i-«‘?f:»wh; E: FOP L““v‘i’“‘}
g
PLAN

DOOR-YANDOW SCHEDULE

f}; »1,10:2.10
0,70.902.10
Gy = 1.202.10
¥y » 1802140
Wy 1202140
Wy 1.50¢1.40
v=0.60x0.60

(C.0O.No.2) [Application]

Q.70

.

.10

R

ROTES:~

ALL DINENSIONS ARE IN METER
NOT TO SCALE
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SCHOOL OF ENGINEERING

END TERM FINAL EXAMINATION

Extract of question distribution [outcome wise & level wise]

Memory recall Thought
Q.NO | C.O.NO| Unit/Module type provoking type Problem Solving | Total
(% age Number/Unit [Marks allotted]| [Marks allotted] type Marks
of CO) | /Module Title | Bloom’s Levels| Bloom’s Levels | [Marks allotted]
K C A
1 1 1 5 - ' - 5
2 2 2 5 - - 5
3 3 3 5 - - 5
4 4 4 5 - - 5
5 2 2 - 10 - 10
6 3 3 - 10 - 10
7 2 2 - 10 - 10
8 4 4 - 10 - 10
9 2 2 - - 20 20
Total Marks 20 40 20 80

K =Knowledge Level

C = Comprehension Level, A = Application Level

Note: While setting all types of questions the general guideline is that about 60%

Of the questions must be such that even a below average students must be able to
attempt, About 20% of the questions must be such that only above average students must
be able to attempt and finally 20% of the questions must be such that only the bright

students must be able to attempt.

I herebyj@fy that all the questions are set as per the above guidelines.

Faculty Signature:

Reviewer Commend:




Format of Answer Scheme

{2? SCHOOL OF ENGINEERING

o
SOLUTION

Semester: Odd Sem. 2019-20 Date: 27.12.2019

Course Code: CIV 215 Time: 3HRS

Course Name: ESTIMATING, COSTING AND VALUATION

Max Marks: 80

Program & Sem: B.Tech.(CIVIL) Weightage: 40%

Part A (4Q x 5M = 20Marks)

Q No

Max. Time

Solution Scheme of | required for
Marking each Question

Contingencies: During the preparation of an estimate, some 2.5+2.5 10
expenses are miscellaneous and can not be predicted to meet un-
foreseen expenses. About 3 to 5% of the total expenses is fixed as
contingencies

Work charged establishment: During the construction of a project
considerable number of skilled supervisors, work assistance, watch
men etc., and are employed on temporary basis. The salaries of
these persons are drawn from the L.S. amount allotted towards the
work charged establishment. That is, establishment which is
charged directly to work. a L.S.amount of 172 to 2% of the
estimated cost is provided towards the work charged
establishment.

Types of estimate: 1) A Detailed estimate 2) A preliminary or | 3+2 10
rough estimate 3) A quantity estimate or quantity survey 4)
Revised estimate 5) Supplementary estimate 6) Revised and
supplementary estimate due to reduction of cost 7) A complete
estimate 8) Annual maintenance or repair estimate.

The more reliable estimate is detailed estimate. A detailed
particulars for the quantities, rates and costs of all the items of work
involved for satisfactory completion of thea project. Quantities of
all items of work are calculated from their respective drawings on
a measurement sheet. Multiplying these quantities by their rates in
a separate sheet, the cost of all items of work are worked out
individually and then summarized. All other expenses required for
satisfactory completion of the project are added to the above cost.

Analysis of rate for cement concrete 1:2:4 for 10 m3 2.5+2.5 10

Quantity of cement for 10 m®=10/ (1+2+4) = 1.43 m?(wet concrete)




Quantity of cement=1.43x 1.54=2.2 m*

Quantity of sand=2.2x2=4.4 m3

Quantity of Aggregates= 4.4x2=8.8 m3

Material cost

Rate

S|.No. | Description Unit Quantity Amount
1 Stone ballast c™M 8.8 1300 11,440
40mm gauge
2 Sand ™M 4.4 1350 5,940
3. Cement cM 22 3,431 7,548
Total material cost=24,928
tabor Cost
SI.No. | Description Rate Nos | Amount
1 Mistri (Head mason) 738/day 1/3 | 246
2 Mason 679 2 1358
3 Mazdoor 558 12 6696
4 Coolie 558 20 11160
5 Bhisti 617 6 3702
6 Form Work L.S 2000
7 Sundries (tools and L.S 2100
equipment)

Total labor cost=27,262

Total material cost + Total labor cost=24,928+27262=52190

Water charges (1% of Total cost} =522

10% Contractors profit = 5219

Total cost for 10 m3 = 57931




4 | Sinking Fund:- A fund which is gradually accumulated | 2-5+2.5 10

and aside to reconstruct the property after the expiry of
the period of utility is known as sinking fund
The forumula used for sinking funds= I=Si/ [(1+i)"-1]
Where | = Annual instalment required
N = Number of years required to create sinking fund.
| = Rate of interest expressed in decimal
S = Amount of sinking fund.

Depreciation is the gradual exhaustion of a usefulness of a
property. Decrease or loss in the value of a property due to its
structural deterioration use, life wear and tear, decay and

obsolescence.

Part B (4Q x 10M = 40 Marks)
Max. Time
Q No Solution Scheme of required
Marking for each
Question
{b) Long and Short wall method :- Leatré 10 centre iengtas of differen Walls | 545 20
5 | below— ey,
Formain vl om — R
Ente bk o enre on Longwalls = (.5 x 2+ 020) 2 20
. 00 ! 9
Entiferightorieﬁ,smwalis=4.8+2.x—'2~ .
For partition and verandah walls — iy
Partion, Short wal =35+ 2 00
2 2\33051
Veembi ot Long- Shrtval= 1540204030+ g5 230 _ 030
’ 7 Ty =iy
Verandah leftside, Short wal = 35 j_’@ﬂ 030 2
. 2 :?' N =13y




~

fem|  Descriptionofitem | No. | Length Breadib Height| Quantity | Explanatory not

Neg. m 1 m
1. |Rarthwork in excavation

in foundation

Main walls
Long walls 20830 | 080 {090 | 1195 [830=750+2x08
Short walls W 243000 080 1090 619 [430=510-2x08

Partition wallg -
Short wall W 1130041 060 070 126 300=3480 -2x03

Verandah dwart wall —

Front Long:Shortwall .| 1| 370 | 060 | 070 | 156 370=375+07/2-4

Leftside, Shostwall | 1 | 0,60 | 060 | 070 | 025 {080=135-070/2.
Total 213 cum P

2. {Lime concrete in foundation

Main walls -
Long Walls | 21830 ) 080 1020 | 268 8.30=750+2x 0.8
Shortwll | 2143010801020 | 138 |g3gms 0-2x080
Partition wal]
Short wall of ]330 1060 1020 | 039 [y20=380-2%060
Venandah dwarf wall
Front, Long-Shortwall .| 1] 375 | 0.0 | 929 045 |17s=315+ 0801200
Left side =
Short wall V10T s 020 | o008 Lion cone Jeves gfihse
of main wall 873 15
080/2-080/2
Total |4.97 cu ] "~
5+5
. mMFO#&AﬂQH Ling
e 1 S J T "‘«:.* ;

Rl A B %(« f i
ii

. M;ﬁ\xé'f | \ -~ '
,&))/4\%; B l t,}\
| i F;[En,fh a'ik;;; s=5cl: ~»~»§- “T%NW}L‘ #&fga w‘ig“f

]
]
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|
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BANK NG
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r_\. e
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10 20
s, Lengh = I m- S0 mm {cover) = 90 o - haok GUx6D=2x6x 12 mm = 16044 2y m
Nog < 1O-2e805 i ) ,,
Nog s = 0 +=Tnos. inone wiy. For bath ways TX 2+ 14 pos.
Bmib' 3 ol = , % - {oasitlr
bLlengh=dSem+ 60 em+ 34 m =2 o (it 100f) - 447 cm and 40 om with roef.
Burs o< Length = 1S em- S0 -2 1 ° i . )
¢ ZNVZ I i+ 25 o < 45 oy 4 15 em = 92.80cm = 93 o (say)
B =] ’ T 2Sum + $hom e blle
A4 L2 em+ 1o + 24 x g = 75.2em Nog, = 2250+ 330+ ik 4 4oy fl=2n0s
: tRem
CA IEAUIES 1110 0= 20 - 2 x 35 o feqones 3« .
=20 em-2x25 mm {covers)- 258 mmyg-13 4 say ldom,
o
Pt s . Length Toad . Total
ge | D% | Shape OF Bending Dimensions Cr s | Nooi Length | Weight Weight
b Mm M
e
3 |4 Ay 1044 |1 s
2 1.: L
¥ JT‘ kad 3 T 4 i
" 0 * Y 4 1948 1
2 4 13 !
R e A 3047 | 3503ke |
L.M_l":w.q e i
N % i 27 {2003 | 792k |
o8 ;* Yy [419%%g
i \ R
' 5+5 20
8 Groxs income per year = [800 x 12 = Rs. 1806000,
Gatgaings et annum assuming sulintife datn tw
{2} Repairs at 1712 of gross income = Rs. 1500.00
(i) Municipal tax 206, of gosstent . = 18000% 20 - Rs. 3600.00
160
(i Property tax 5% of 2ross rent = TR0 = i = Rs. 900.00
10
(i} Insurance premium @ 145 of - S
gross rent % o = [$(00 * = Rs, 90.00
(¥ Manggemcn: charges @ 603 pf =000 x 0 - Rs 1080.00
BEOSS rent o
{¥3) Other miscelianeous charges @ 25, of o2 o
of the gross rent ' L s 1o = Rs. 36000
{vif} Sinking fund required to accumulae
the cost of the building (which is
the rate of Rs. 150.00 per sq g of
plinth area = 400 % 1 x {55 =
Rs. 180000.69) in 72 vears @ 3% e
interest . iﬁﬁ(ﬁﬂﬁx 10043'= Rs, 774.00
Tota of outgoings per annum = Re. 8304.060
Nes anmual retdrn = 18000 —- $304.00 = Rs, 969600
Capitalized value of the building = Ket income > Y.P. = 9636 = ng = Rs. LEIGBL00
Cost of land & Rs. 40.00 per sq m =800 %40 5 Rs, J2000.00
Total ... = Rs L8360000
PartC (1Q x 20M = 20Marks)
Max. Time
; Scheme of required
Solution . for each
Q Marking .
Question
No
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